
CB1 revision
How are osmosis and diffusion different?

What transport can move larger molecules?

Does potato in pure water lose or gain mass? Why?

Does potato in high sucrose solution lose or gain mass? 
Why?

Osmosis – just water, needs a partially permeable membrane

Active transport

Gain. Water moves in because water concentration inside 
potato is lower

Lose. Water moves out because water concentration 
inside potato is higher



How much an image has 
been enlarged
How clear an image is

Mag = image ÷ actual
= 4.2 ÷ 0.003
= x1400



Eyepiece          objective

X40
x6000

Light – cheaper, smaller, uses light, lower 
magnification and resolution
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Contains information cell 
needs to be reproduced

“bonus” DNA for things like 
antibiotic resistance, can easily be exchanged

moves cell
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Cells with a nucleus

Cells without a nucleus

Biological catalyst – speeds up reactions
Digestion – breaks up big molecules
Synthesis – joins up small molecules



Protease                stomach                 breaking up              
           proteins



A long chain of amino 
acids forming a 
protein molecule.

Individual amino 
acids.
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Enzyme folds out of 
shape. Active site 
doesn’t fit substrate → 
enzyme doesn’t work. 
pH or temperature

Optimum = best. 
Enzyme works fastest. 
Outside enzyme is slow 
or denatured
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